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<ul>
<li> R
<p>
<math>
<munder>
<mi>lim</mi>
<mrow>
<mi>x</mi>
<mo>&#x2192;<!--RIGHTWARDS ARROW--></mo>
<mn>0</mn>
</mrow>
</munder>
<mfrac>
<mrow>
<mi>sin</mi>
<mo>&#x2061;<!--FUNCTION APPLICATION--></mo>
<mi>x</mi>
</mrow>
<mi>x</mi>
</mfrac>

<mo>=</mo>



<mn>1</mn>
</math>
</p>
<li>f5y
<p>
<math>
<mfrac>
<mrow>
<mi>d</mi>
<mi>x</mi>
</mrow>
<mrow>
<mi>d</mi>
<mi>t</mi>
</mrow>
</mfrac>
</math>
</p>
<li>F&E%
<p>
<math>
<msubsup>
<mo>&Integral;</mo>
<mn>0</mn>
<mn>1</mn>
</msubsup>
<mi>x</mi>
<mrow>
<mi>d</mi>
<mi>x</mi>
</mrow>
</math>
</p>
<p>
<math>

<msubsup>



<mo>&#x222b;<!--INTEGRAL--></mo>
<mn>0</mn>
<mi>&#x221e;<!--INFINITY--></mi>
</msubsup>
<mfrac>
<mrow>
<mi>d</mi>
<mi>x</mi>
</mrow>
<mi>x</mi>
</mfrac>
</math>
</p>
<p>
<math>
<munderover>
<mo>&#x222b;<!--INTEGRAL--></mo>
<mn>0</mn>
<mi>&#x221e;<!--INFINITY--></mi>
</munderover>
<mfrac>
<mrow>
<mi>d</mi>
<mi>x</mi>
</mrow>
<mi>x</mi>
</mfrac>
</math>
</p>
</ul>
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